Worksheet-1 Afemr yerat ™ - &=t

10.

11.

12.

(Number System)

AYds Afenrret O ‘ O 2. Ag &S YTs AT ... gt Jl
Intergers = O ‘ O The smallest whole number is .

At 3 T A3 T 6B ..o I3 AT 3ergIeaHa 8%e............. Jl
The Additive inverse of 3 is and multiplicative inverse of 3 is
(atb)(a-b)=

11 1.1 11
@573~ b 2 3 (©) 5737

v

o - P - o o~ o~ - o . - o po .=
Suifrrs Egufesden3..... Qe Aftmet Jemz ¢ 7 08 fes fagrarerJ1
A number of the form § where and q are numbers and g # 0 is called fraction.

feq Bszar em3fed AfeT JuT I 9% faar T,

ErerfugsTig ... IITUMIMIBTUT ... IJI
Boy is walking on real number line, his back foot
ison___ andfrontfootison

V5 & AfedT U 3 EaH S |

Represent \/g onreal number line.

A
v

]
R S S S R S A T T B

33 4 fegarg & Ufanw Afii=t f&d | Write Six rational numbers between 3 and 4.

T& I /Solve: B+ V3)(3-3)=

U’&'aﬂ' /SOIVC (a) 2 2/3>< 2 /5 — (b)((Z) 2/3) 1/5:



13. EETEFD-I'&EQU | Write in decimal form 2 _

14.

15.

16.

17.

18.

19.

11

fea ufone Afeprm I miufors A e grese® ... Jardl

Product of Rational and Irrational number is always

3./3, 43,12+/243 € IE5EB/ The Product of these numbersis:

Jot f&fumt & g9t @7 ufoHsiiadds &9 | /Rationalise the denominators of the following:
1 1

U () 75432

815 & 243 3B IATAd | /Divide 84/15 by 24/3

5 9 N/ / -~ o . -
UfaHe Afyr=t 7»@ 11 v fegaa f3s sy-symufoie AfereT B 9|
Find three different irrational numbers between the rational numbers é andg .
7 11

gt f3s Aftret fgd g © emise ferga v 3 rie-Mrea3t o<

Write three numbers whose decimal expansions are non-terminating and non-recurring.



Worksheet-2 gIya g -3
(Polynomials)
1. x,y,1,5,7 9%/mMTS Aftmret & 95T gan oo fau| 2. 478t g7 g4 / Fill in the blanks:-
x,y,1,5,7 write variable / Constant in the appropriate box (i) 2x+ =7x
(ii) X*+4x*+3x°=
9% /Variable M9%/Constant
3. Y&t gt g9 / Fill in the blanks:-
i) 10y =4y ii) -8y+ = 6By iii) -3y’ =-10y°
4. IIAHT (x+a) (x+b) = X*+(a+b) x+ab & I3 Jdd J&T f&Y & Yar a:-
By using identity (x+a) (x+b) = x*+(a+b) x+ab, complete the following:-
(x+3) (x+4) = + +
5. J& fafimit g s &3:-/Match the following:-
i) X*+x*+3 (a) € Wt 99UE (Quadratic polynomial)
i) x+1 (b) f3= w3t gguw (Cubic polynomial)
i) 2+X2+X (c) ggU€ &1 (Not a polynomial)
iv) Vx+x+2 (d) 34t gUE (Linear polynomial)
6. A9 I = (A x IIREH) + ol M3 15= (2 x 6) + 3I< 3T
FTH= e SITHT SO e
If Dividend = (Divisor x quotient) + Remainder and 15 = (2 x 6) + 3, then
Dividend= , Divisor = , Remainder=
7. AfT=T 4, -2, 2, 0, 3 &9 p(x) = X* - 2x 0T fAGaT U3T &9 |
From numbers 4, -2, 2, 0, 3 find the zeroes of the polynomial p(x) = X - 2x
8. 9 d9 7+3x, 3x*+7x €T f€d IE5UT T A 511 Check whether 7+3x is a factor of 3x*+7x
9, 12x*-7x+1 € ISHUSF U3T &9 | Factorise 12x°-7x+1.
10. EJ<T AIGANI3T € YUl J9d (2x-y+z)’ €7 feAza aqd |

Expand using suitable identity: (2x-y+z)*



11.

12.

13.

14.

3T 3 fa X= -

. 2 ggue p(x)=3x>-1 Eht feat I8 7 aat
/3 P(X)=3x

Check whether X= -j1=% are the zeroes of the polynomial, p(x)=3x>-1
3J3

SIS AIAH3T €7 YU dT J9d J&T &t € W& U3T a4 | Using identity evaluate.
(i) (998)* (i) 104x96 (iii) (102)°

3y —4x’ —3x—18 x-1 & FATAd1 Divide 3x* —4x°> —3x—1 by x-1.

XX =20 +x+18 x - 1 ITE I ES T UUI IS B
Find the remainder when x* + x> —2x* + x+1 is divided by x - 1.



Worksheet-3 fagawm vrg farfest ™I -3
(Co-ordinate Geometry)

1. Aftpr 3uT 3 Gudas Aftmret & AETUZ a3 | On Real number line, Locate the numbers
-5,-3,0,4,6,9

A
\ 4

2. ™3 feT &5 fefonmadtt €t nfast € fogew wa fad|
Write the position of the students sitting in the class.

(yP=(_.__)(@)Q=(__,__)(ipR=(__.__)
(iv)S=(__._ )W T=(C____)

3. X-TITHI Y-Ud . I T e I&| X-axis and Y-axis intersect at
4. YEE=TIT IFillinthe blanks - o
. . S
OP=(, ) @HQ=( , ) (IiR=( , ) ;
(v)S=( , )MWT=(C , ) 5 p
4
3 Q
2 R
1 T
0533 3567 859101112 >
5. () X-Td F,yue... =0 (i) Y- Iy =0 (i) On X-axis, =0 (ii) On Y-axis, =0
6. (i) fogem wia faqrfest feg............ IgTEHT JEIT TS |
(i) There are Quadrants in Co-ordinate system.
(i) ufomY Savet feg, x =+ ve, y = (ii) In First Quadrant, x = + ve, y =
(iii) & Saret feg, x = , y = - ve (iii) In Fourth Quadrant x = Yy =-ve
7. (i) (-3, 2), garet feg Afaz J1 (i) (-3,2) Lies in Quadrant
(i) (0, 1), ud IAfEI T | (i) (0,1) Lies on axis
(iii) (3, 0), Ud IAfEI T | (iii) (3,0) Lies on axis

(iv) 7 (a, b),y-Ud 3 AfE3 T 3T b=0 J=aT| (7t / I1&3) (iv) If (a,b) lies on y-axis, then b=0 (T/F)

8. fea femaat & 3t miuS wifors He 3 34 29 Sy < Afg3t faw 39t enar |

How will you describe the position of a table lamp on your study table to another person.

9. JTIHS N3G feg BT dur & MIYIAIUT S e I |
The horizontal line is , and the vertical line is in the Cartesian plane.
10.  ()B=(__,__) (ii)__=(3:5) (ii)C=(__, ) (v)_=(2,4) )

(v) Abscissa of D = ,DETga = viy)L=( , )
(vii) Ordinate of H = ,HEr et = (viiyM=( , )




11.

12.

13.

14.

15.

B I yS< Iy faw fig 3 Jeet 7, Ond e IS |
The name given to the point where two axis meets is

Adt yrs f&9 f&g 331 Fill the points in appropriate box.
(-2,4), (-3,-1), (2,0), (-3,0), (0,5), (0,-2), (3,4), (3,-5), (-2,3)

1" Quadrant 11 ™ Quadrant 111 * Quadrant IV " Quadrant X- axis Y- axis

elolelelele

fent § mS® 3 M 3fuz &3 | Plot the points in the Graph.

X -2 -1 10 1 3

y 3 4 [1.25] 3 | -1

01234567

FetHE MHIE f&g g (5,0), (0,5), (2,5), (5,2), (-3.5), Y

(-3,-5), (5,-3) M3 (6,1) € AE'S faguas g |
Locate the points (5,0), (0,5), (2,5), (5,2), (-3,5), (-3,-5),
(5,-3) and (6,1) in the cartesian plane.

J&t fay Afer Afent § Iradtas 3% € ffen € gu
feg m&fuz ad| Plot the following ordered pairs
(x,y) of numbers as points in the Cartesian plane.

x |3 1ol 1] 4|2 ' ARERERE




Worksheet - 4 € 98T T8 JHl mHidae 3 - &<t
(Linear Equations In Two Variables)

1. +a9 fed fqae Ho feg € 989 & HBd 240 35 g2 d< 3t fen Aeadt § fea midgde € gu
feg @au™ €| If in a Cricket match, the combined score made by two bastsman is 240, make an
relevant equation for this information.

2. ffgat e s fea is s 3 iAger J 3 fon qus § © 957 o8 feq aut mitgee fee
f&¥ 1 If the cost of copy is five times than the cost of pen then write the above information into the
equation of two variables.

3. By mildae fAnd ax + by + ¢ =0 < Ju feT Tanfen A" AgeT 98, A8 a, b M3 ¢

At e M3 amM3 bes .o &4t 95, Bng € 98T @787 out mfigae faar Ater J1
Any equation which can be put in the form ax + by + ¢ =0 , where a, b and c are numbers
and a and b are not both is called linear equation in two variable.

4 (a) fTq 9% =8 I3 3t Ao o feq fezdye T8 Jer J1 (Aat /a183)
Linears equation of one varibale has only one solution (Right/worng)
(b) € I8 T8 JH Mitads © Mad I8 J¢ I& | (AT/ IBI)
Linear equation of two variables has infinitely many solution .(Right/ wrong)

5. Jof fe gt @ 9%t @8 3yt miladst © €193 T8 &% U&= a9 /Match the following

(i)3x+4y=12 (a) (2,1)
(i)2x+y=35 (b) (4,0)
o 1
(1i1) ZX+2y=10 (©) (16, 3)
6. (i) € 9% T8 Jod Mflads e By fea............ Jur Jer J|
Graph of linear equation of two variables is Line.

(i) € 97 T& it midae € MY € Afe3 399 fig t mitgde e g% Jer J1 (Al as3)
Every point on the graph of a linear equation in two varibles is solution of the linear equation
(Ture/ False)
7. 799 &g (2,2) Mg 4x +ay =14 T M BY I A3 T 3T 2 T HE U3T I3 |
Find the value of a, if point (2,2) is present on the graph of equation 4x + ay = 14



8§ mMidaE 2x+y=7T 993 (&Y
Write four solutions of the equation 2x +y =7

9 ¥ 9% TBT Ut miidaE x +y =4 T W3y U9

Draw the graph of linear equation x +y =4

10 MidaE 2x+1=x-3& TS I M3 T& & (i) Afte IUT 3 (i) TIHS AH3B I faguz 931
Solve the equation 2x + I =x - 3, and represent the solutions on
(1) the number line (i1) the carterain plane.

11 (i) feq 9% =& (ii) € 98 =8, mildae € gu fe9 2x + 9 = 0 & Afest fasgue J31
Give the geometric representation of 2x + 9 = 0 as an equation
(1) in one variable (i1) in two variables.



Worksheet-5 gafes & mrfest € Are-uge M3 -3t

(Introduction To Euclid's Geometry)

1. Gfew fag €v I fameT aet &dT J€T | A point is that which has no .
(i) fe'q aur gfag Faret It J1 A line is length.

2. fegfig 3 on fig3afea fust 7 At I
A may be drawn from any one point to any other point .

3. WJdAHd<e fed g € 9999 ¥ 9% | (At /AT83)
All right angles are equal to one another. (True/ False)

4. fea m3® AT 3 M3 Atk quret § myrfuz 13T A7 AgeT (Adt / 3183)
On plane surface, we can locate infinite straight lines. (True/ false)

5. yIE i 3 37 geT J1 The whole is greater than
6. ¥ 99THdT § g9rHa’ fET werElE, 3T ¥t fed garyd fHger J1 (ATt /A% 3)

If equals are subtracted from equals, the remainders are equal. (True/false)

7. HA,Bm3Cfeadu 3 nfe3s f3s e s M3 B g A M3 C € e Afez JIfAT a9
AB+BC=ACJIIf A, Band C are three points on a line and B lies between A and C. Then
prove that AB + BC = AC.

\

A

8. ufggmr fe€ | Define the following terms
(i) AHT39 U=t (Parallel lines)

(ii) g JuT=T (Perpendicular lines)



10.

11.

12.

(iii) 99 T Mau f@H™ (Radius of a circle)

(iv) 3UT &F (Line segment)

Had AC=BD, fAu a9 AB=CD B C
If AC= BD, Then prove that AB=CD A

gafes & IA<t y3uesT &t J1 df fed aHT3a Ju=t 38t <1 319 J1
Explain Euclid's fifth postulate. Does it exist for parallel lines.

UZemd A=-fAu3T &t T1 Explain playfair axiom.

() farn & "o o w3 fam 3 fe'q a9 fufenr a7 Aaer J1
A Circle can be drawn with any and any
(i) fea mz qur & JU &% ST AT AdeT J

A terminated line can be produced
(ili) € TY-TY FreImt JuTet feq It JUT © AHT3T &t 7 AT | (ATt / 31%3)

Two distinct intersecting lines cannot be parallel to same line. (True / false)




Worksheet-6 a'wg-r m@- s ™3 - ﬁﬂ'

(Lines And Angles)

1. WeIWe... et 5% fAdt ur fu gt A Aaet 91
Asstraight line can be drawn with at least points.
2. Y Bt gq| _
Fillin the blanks fs8s a= s A9% 3
< Acute Angle A% °°  Straight Angle

B C

K A

Ly Ly =90° i 180° <£t<360°
q R - t B C

A
\y 90° <£.7<180° C— £4=360"°
B c 4

3.  Jded o wIt €t € ferr feewfrr Afer 9 1(Adl/a183)

We can measure angle in anti-clockwise direction (true/false )

A A
4 (1) L
»
Av/
B p =
Zx and Lyare angles. Lx M3 Ly T IS
. P
(ii) /' x4 Ly =180
A o £y LXWMI LY FT TS|
Q R Lx and Ly are angles
(iii) b Lx+ Ly =180
Zxand Ly are angles as well as angles.
A oA IX MILY ... FETEMI oo, I TS|
A y v - -
5. T P fegafeY Lp=4q. LpmI L .............. I TS|
T - -
C y B Lx=2Ly, Lxm3 Ly ... AT IS
Infigure Zp and Zq are Similarly Zx and Zyare

5
D
3
5
3

line PQ and line RS are 1

e ,s JUTPQMIJUTRS............... U IS
line PQ and line RS are lines.

p
7. (a) HIr3 d< (Corresponding angles) /
i) ii) « 542

iii) iv) " < A6

N
W)
v

v



10.

11.

(b) fedT3d #wad® d< (Alternate interior angles) (i) (ii)
(c) feat3a §7998 d< (Alternate Exterior angles) (i) (i1)
(d) Fre<t gy &t feq It ferr o #Wea® J< (Allied angles) (Co- interior angles)

EN

#ad PQ||ST, LZPOR =110" w3 ZRST =130° I3+ ZORS u3Taq|

If PQ||ST, ZPOR =110" and ZRST =130’ find Z0ORS p o S T

110° 130°

R
H3J AB||CD, ZAPQ =50" M3 LPRD=127"x M3 y T H S UITAJ|
If AB||CD, £APQ =50%and /PRD =127! findx andy. « P B,
50°
y
X 127°
< Q R 1%

H3y=t PQ M3 RS e T3 fenagi aeemi g fa LPRT =40, ZRPT =95"m3 LTSQ =75
3,3 £SOT U3 3|
If PQand RS intersectatpoint T, /PRT =407 ZRPT =95° and /TSQ =75, find £SOT

P
95°

40°

f3gH & MeEds a7 Az 180° Jev J, AT a9 | Prove that sum of the interior angles of triangle is
180°



Worksheet-7 fogst I - &t

=

(Triangles)
1. feafaggrafes........ FAHI ... dE JT I&| ATriangles has sides and angles.
2. feafggrafes. ... fAyg J€ I& | Thereare Vertices in a Triangle.
3. AABCand A PQRare Tringles.
AABC M3 APQR f3gmi s |

4. (g—ér—g)ﬂaémm@ﬁwn-rié%,g= ...................... X =, ST = e

In SAS congruencerule, S= A= ,S=
5 (@-g- & )AggamHaT feuifes,a=..................... ST = A=

InASA congruence rule, A= ,S= A=
6 (A- I-F ) ATHImHIT famH fes, A=.................... ST = ST e, ,

InRHS congruence rule,R= S=

7. AABC = APQR g fotwmgra
____ Rule.
(if) | ATSU = AMNO - __ __feminigas
By Rule.
S U N Q

8. AD and BC are equal perpendiculars to a line Segment AB. Show that CD bisects AB.
YUY AB’3 AD™3 BC 39 3% (fg3924)I1fAUde fa CD, 3umds AB & e A3 Jaet J|

: C
B_I

=

9. ZB< ZAMT /C < «/D,eangfa AD<BC JI
If /B < ZAand ZC < 2D .Show that AD < BC




10, ABfEGIw iz Im3Pfen e HUfE JIDMI EJU 3 ABE fed un € fig fem 3gr o
fad /BAD = ZABE ™3 LEPA=/DPB |fAU &3 (i))ADAP =~ AEBP (ii) AD =BE

AB is a line segment and P is its mid point. D and E are points on the same side of AB such that
/BAD = ZABE and ZEPA= ZDPB , show that (i) ADAP = AEBP (ii) AD =BE

E D

11. AABC fe€a miast f3ga d fam feg £4 =90° M3 AB=ACJI LBM3 £LC U3T A
AABC is a right angled triangle in which 24 =90° and AB=AC. Find 4B and 2£C .

12.  AABC fea gt f3ga d fAn ff AB=ACJIAP L BCHS I Tan & fasLB = £C JI
A ABC is an isosceles triangle with AB = AC. Draw AP L BC to show that £ZB = 2C.

13. fg33fe90A=0B™3 OD=0C JIfAuaq
fa& A AOD= ABOC 3 AD| BCJI

In given figure OA = OB and OD = OC then
prove that A AOD= ABOC and AD || BC. O



Worksheet-8 SELEL T3 - 3=
(Quadrilateral)

1. (()Sofigrfeadtourfesde, @t d. . fie fagr AreT J1
The points lines on same line are called points.

(i) S ffgafeadtaurfegards, Buat & fog faor AT J1

The points which do not lies on same line are called points.

2. (i) f3& vt feent & 738 3 93997 YUz It J1 At /A183
A Quadrilateral is made by joining three non-collinear points.
(ii)97a et et § fea g fesdsas 3. St yuzs 3t 91
By joining four non-collinear points, we get
3. Jot f&fut § &6 - Match the following:-
(If3gw € fAug (Number of vertices of triangle) (a) 4
(i) T39gH © faua (Vertices of quadrilateral) b)) 3
(iii) IUHF & fAYT (Vertices of line segment) () 5
(iv) UAgw & fAYg (Vertices of pentagon) (d) I &1 (None)
4. foza=ud oyl A B
(1) g (vertices) , , , , E
gHT<T (Sides) s e e
fegade (Diagonal) , , , , D C
BT gt (Adjacent sides) (_ , ), (__, )y
(ii) 99799 gA=T (Equal Sides)
(L »(_,_ )
¥979d d< (Equal angles)

(o () K ’ -
AHT39 ga=t (Parallel Sides) (_ , ), (___, )

5. (i) MBI I3dgA T ........... 8ng € HagamH f3gwt fee eseT J1
of parallelogram divides it into two congruent Triangles.

(i) fan f3gw &t fan € g @ Hu e § e s Juts Imdt gar e........ Jer J|

Line segment joining the mid point of two sides of a triangle is to third side.
(1) e ¢ fegge feq gd § mHde 3 AHEgTTHI Jae I8 | (AHEZdgH /Mfes)
In , diagonals bisect each other at right angle. (Rhombus/Rectangle)

6. wIAE fq feq =gar € fedde 999 J€ I& M3 WUH €9 AHd S T AHEIAI Jde I&|

Show that the diagonals of a square are equal and bisect each other at right angles.



7.  ABCD fea mHT33 93997 d M3 APM3 CQ fuat A W3 C 3 fedde BD I HI I 995 |Tan g fa

(i) AAPB=ACQD  (ii))AP=CQ
ABCD is a parallelogram and AP and CQ are perpendiculars from vertices A and C on diagonals BD,
show that

(i) AAPB=ACQD (ii)AP=CQ

8. AHY3IIA Y fedaasT @t BIEl 16 cm ™3 12cm J IAHY3dgH & AT €1 FTEt U |
Length of diagonals of rhombus are 16cm and 12cm. find the length of the side of rhombus.



Worksheet-9 AHT39 939gHT w3 f3gwt € 439es ™3 - 3<t

ook N

4

10.

(Areas Of Parallelograms And Triangles)

.................... 93994 © feddes Wun feg mHae 3 AT A3 Ja< I51
The diagonals of ................... bisect each other at right angle.

AHT3T B39gH € HEHY T ..o J< I& | Opposite angles of parallelogram are ...............
Mgz e fedaT. ..o J< I& | The diagonals of Rectangle are ........................

TG ATET oo g3dgd Jat J Every Rectangle is ........cccceveeenee.

wfeg &t g gaeT e HU gent § M BT 3 9t 93987 gt I

By Joining at the mid points of the sides of a rectangle, we get ............cccee.

OppoSIte ..cccveveeeereeeneenn of parallelogram are equal.

T3dIHE AST T HS ... J=T 1 Sum of all the angles of quadrilateral is.................

AT a9 fa fea I »irarg W3 fea I AHT39 Jym=t € fegard Afga ANT3T 9399+, 439w feg

TS §€ 951
Prove that parallelograms on the same base and between the same parallels are equal in area.

P "3 Q IHT AHT3T I39gH ABCD &t ga=t DC 3 AD €3 Afe3 fig 781 san €

ar (AAPB) = ar (ABQC)

P & Q are any two points lying on the sides DC and AD respectively of a parallelogram ABCD.
Show that ar (AAPB) = ar (ABQC)



11. 39 f€9 PQRS M3 ABRS AHT3d 9399H J& M3 X, gAT BR
€3 Afgz det fdg J1 €an§ fa(i) ar (OPQRS) = ar (JABRS) r A Q B
(ii) ar (AAXS) = 5 ar (OPQRS)
In figure PQRS and ABRS are parellograms and X is any point
on side BR. Show that (i) ar (OPQRS) = ar (HABRS)
(ii) ar (AAXS) = Jar (OPQRS)

12. ffg D3 EgHE9 AABC &f ga=ef AB 3 AC 83 fem g Afez us fa
ar (ADBC) = ar (AEBC) | €aA"g f& DB || BC

D and E are points on sides AB and AC respectively of AABC such that ar (ADBC) = ar (AEBC).
Prove that DB || BC

13. AABC fe9 , Efuar AD &7 WU fig §1 T &9 fa (ABED) = jar (AABC)
In a Triangle AABC, E is the mid-point of the median AD. Show that ar (ABED) = zltar (AABC)



(%)

Worksheet-10 gd9d I - 3=
(Circle)

1. feggueerfAar fanafefa»iaatd ean@erd?
One Rupee coin is in the shape of which Mathematical figure?

2. feaq Wz & fa® o gfenm 92, Ad0 WST I AST IH & §378< €t dfmm fegmrues Ut et ey s

JiwHeTd 3
(1) G leiesw ae fomaterAyofed................. Trguderdl
(2) IR TAI S B e ... TTgudI

One horse is tagged to arape, If the horse wants to get rid of the tight rope and move circular around the
rope with his toes.

3. a3z 3Busirdfieniernyora g feanfasfig I afagedt3de,fea......... FargETJI
The collection of all the points in a plane, which are at a fixed distance from a fixed point in the plane is

called....coeveeeeeeeeenn,

4, TAITACTTATE oo, fe g afaa 31 (g7adt a1 / wregat gman)
The centre of the circle liesin.................... of'the circle.(interior/ exterior)

5. feagadfeg s Saret &t iU mteret gt I8 1 (AT1/a1s3)

A circle has only finite number of equal chords (True/false)

6. TAINAI I TSI A TATE oo gt T
The largest chord of the circleis called its......................
7. f@H™=2X ol , Diameter=2X ...........c......

8. AU fagadeht o ag Hie=r ' ©d 3 59T 9d d< I T I |
Prove that equal chords of a circle subtend equal angles at the centre.

9. fAugdfafeagageaed3 fea e § AHEITH3 J9s Bt fudt aret qur Mer 83 SgJet J1

Prove that the line drawn through the centre of a circle to bisect a chord is perpendicular to the chord.



10. sSAMt.»33A M »oufernrA= 8 egade e 3T uam3 BusTedeafeaatgdt 4 A Mt . T
AigT Fiet € 9vet U3T d1 Two circles of radii 5cm and 3cm intersect at two points and distance
between their centres is 4 cm. Find the length of the common chord.

11. feggaafegraad L ABC=69°, LACB=31° 3t LBDCU3Tdd
In the given circle if ZABC=69°, £ACB=31°,find ZBDC gAY 31°

@}

12. fAUad fagadt A 3d 93dgd feamfeg dJerd]
Prove thatevery cyclic parallelogram is a rectangle



Worksheet-11 It ™ - &=
(Constructions)

1. ()1AH= T (i) 4 Tt = 0] (iii) 1 Hieg = ™
(1) lem = mm (i) 4 mm = cm (i11) 1 meter = cm
2. 1M 3 2t fo i fee =fsum A rgeT J1
1 cm can be split up into mm parts.
3. (i) fags e nrdfsq fig 37 Jur I U9 feg Io At I
Ray has a starting point, but it goes upto
(ii) 60° AHETHA A<= Jer J1
Bisector of 60° angle is
(ii)) 90° €I & afge g5

An angle of measure 90° is called

4. At Ad® & IS (Choose the correct scale.)

(1) (ii) (iii)
I L I I L I L I L
mmrrrrrrrrrrrrrrrrrt rrrrrrrrerrrrrirt rrrrrrrrrmmrrrrrrerrnl
o 1 2 0 1 2 0
5. At fH@= q9 -
Match the following :-
(1) ﬁ')'@?)‘ d< / Acute angle (a) 90°
(ii) Wfaa < / Obtuse angle (b) 0 <dE < 90°
(iii) AHEE / Right angle (c) 180°
(iv) Hg® I / Straight angle (d) 180° I =37
(v) fae@am &< / Reflex angle (e) 90°< &= <180°
6. € 6 Y 5t Uz € AHEIHS A Jer 31

The bisector of 6 cm long line segment is

7. fea fe 3t aret fags € wrdfaa fig '3 90° Eﬁémwwmmme’rmaﬁl
Construct an angle of 90° at the initial point of a given ray and justify the construction.




9.

10.

11.

J6 fe 3 d=t €1 39&T a9 M3 dS HUF ©HTdT Y |
Construct the following angles. Verify by measuring them by a protector.
(1) 75° (ii) 135° (iii) 105°

fea f3gw PQR &t 39&T a4, fAr ff9 QR = 6cm, £Q = 60° 3 PR - PQ = 2cm J=|
Construct a triangle PQR in which QR = 6cm, £Q = 60" and PR - PQ = 2cm

fea f3ga XYz &t g5 a9, fAar feg £Y=30°, £Z =90’ M3 XY+YZ+ZX = llcm J=|
Construct a triangle XYZ in which £Y=30", £Z=90"and XY+YZ+ZX = 11cm

fed ma< f3gw & 99T a9 fAd € U™g 12 cm M3 J9S M3 EAdT gAT €7 A3 18cm I
Construct a right triangle whose base is 12 cm and sum of its hypotenuse and other side is 18cm.



Worksheet-12 AT e g ™I -3
(Heron’s Formula)

1. <o e feoas At aur § 3y &3 fagr aer J |(A9t/a153)
Straight Line between two points is called line segment. (T/F)

2. ey ist Fastgemidat ... e I8 |
Aclosed figure made up of three line segmentsis called.........................

3. Gufggufarfeefeads 90° Jerd€nd miast f3game 5| (Adt/a%3)
Atriangle having one angle 90° is called Right angled triangle. (T/F)

4. a) IHI ST f3gA ETU39ed - 12 ¥ X &I |
Area of Rightangled Triangle =72 X X Perpendicular
b) It fagaerufory =g9= + - Jerd
Perimeter of Right angled triangle = Hypotenuse + +

5. HAd LA SASHYI IATBC =adeT I3t LB w3 LC ST ASHI A= 3 b w3 c S AETUI T |

If opposite side of ZA4=a, Then mark opposite sides of ZB and £C asband configure. A

\ —
6 f3gAET439e® - . X BC , Ufgqmu = a+b+c C/

Area of Triangle = ¥2x BC X , Perimeter = a+b+c/

atb+

7.  JW9EIIMEAT, S=T, AT S=T 5

Accordingto HERON's FORMULA, g _ & — or o

2 2

8. Had feq f3ga e gaAT=f 8T HY a,b, ¢ I 3T AT HST MEHS:

If sides of atriangle are a, b and cthen according to Heron's Formula:

. - . a+b+c

I T H3des (Areaof Triangle) = \]s(s- a)(s-b)(s-c) (s= 5
9, fea f3gn e u39es u3™ g9 fan &t € gar=t 8 A W3 11 AX I& W3 fam e uforumy 32 Aan

J | Find the area of a triangle, two sides of which are 8 cm and 11 cm and the Perimeter
is 32cm.



10.

11.

12.

13.

fam udx feg fea ferss Ut 521 981 7 | fer et dierat feg fex dtea 3 fan 391 &% Jar
3916 A3 famr I w3 GR 3 “Uda § T T M3 Are a0 &l Ifemm I | Fag ferdieg e
UATT 15 4T, 11 Hi 3 6 Mt T, 37 JAT 3916 13 ITaT e 4398 B U3TAd |

There is slide in a park. One of its side walls has been painted in some colour with a
message "KEEP THE PARK GREEN AND CLEAN". If the sides of the walls are 15 m,
11m and 6 m, find the area painted in color.

15 Wt >

JUr & feq JareTd 9 &% fea g=ve AdTH ©F f39 SSfenTI 293 NS I AAH T I B
¥3de® U3Td4 | Radha made a picture of an aeroplane with coloured paper. Find the total
area of the paper used.

S em
I

—6cm
[
v L Lsem ¥
.5 cm

Fig 12.15

€ MBI-MIBIT 391 © J Ufant & 10 f3ga mraa € gafant & st aod fea & 341 gret aret
JITIT ZIFEHY 20 AH, S0 AT S50 AH T |2 39t fe g ada darer fdaTaquaTsard |

An umbrella is made by stitching 10 triangular pieces of cloth of two different colours, each
piece measures 20 cm, 50 cm and 50 cm. How much cloth of each colour is required for the
umbrella.

00,)]

20 cm

feg megaga Mae WT € U3 fET 18 I8 € 995 BTt W J1 7ad fed AHg39gH €1 944
g 30 H. I=° =3 37 fedde 48 Ht. 3= 37 939 I18 & 996 B! fer wo & 43 v daT 439e®
yru3 =97 A rhombus shaped field has green grass for 18 cows to graze. If each side of

the rhombus is 30 m and its longer diagonal is 48 m, how much area of grass field will each
cow be getting?



Worksheet-13 AJE 439es M3 Wifess I - 3t
(Surface Areas And Volumes)

1. wfed, T3 Iaamfe g3t g5 |
Rectangle, Square and Circle etc. are called figures.

2. w99 fea It warg w3 fea 3 vy St wisd mizs wirfa It feq & Bua g+t due 9f 37T 3H
WISt U3 gae IF| (A1/I1SB3)

Ifplane figures of same shape and same size are stack them vertically, then we obtain solid figures.

(true/ false)

3. It faht ar fH&T™= a9/ Match the following
(1)wE T"nmfe3s (Volume of Cube) (a) & x9.xE./(I1xbxh)
(2) WSS TS AITETU3deH (Total surface area of Cube) (b) (@¥)’ / (Side)’
(3) W= E W TE35 (Volume of Cuboid) (c) 2Xx €.(&.+9.)/2h(1+b)
(4 W= T TAIAITET YIS (Lateral surface area of Cuboid) (d) 4 X (AT /4 X (side)’
(5) WS TIIAITETYIJeH (Lateral surface area of Cube) (e) 6 X (IAT) /6 X (side)’

4. U39eE § HuE o feardt & fearet faor Afer w3 wfezs § wue &t feaet
3 fearet fagr Arer J1
The units of area are units and the units of volume are units.

5. AdIMEA SadIdHIe g feagn Qugadie 3t Ad yuz gerdl
If we place number of circular sheets on one another vertically, we get shape.

6. fansHERg Tt UIES AHIE d fagraterJI

is the capacity of a solid shape.
7. AgETHTESE -1 X e orfegs

Volume ofcone= % X volume of

8. feg g &t Suret, I3Et M3 B9 Et 5 m, 4 m M3 3 m J13. 7.50 Y3t Mt * €t w9 &7 fen g &bt
diegt M3 8 3 T HeTl JaT '8 T Hag U3  Jq |
The length, breadth and height of a room are 5 m, 4 m and 3 m respectively. Find the cost of white
washing the walls and ceiling of the room at the rate of Rs.7.50 perm.’




9. NI IS AITEUIIEH UIT A3, fAn €1 f3aet §uret 211t I i3 g e femmH 24 Wt . 91
Find the total surface area of a cone if its slant height is 2 1m and diameter of its base is 24m.

10. Seoformusdt e fermer fea Jaret 71fegst €61 € AgEt 439es ET MgU 3 U™ 4 |
The diameter of the moon is approximately one fourth of the diameter of the earth. find the ratio of their
surface areas.

11. HferE e e U 4cm X 2.5cm X 1.5cm I | MfadhdT 12 35T € Ude e mfe3s u3Tag|

A matchbox measures 4cm X 2.5¢cm X 1.5cm. What will be the volume of a packet containing 12 such
boxes.

12. I TTWIEH USTAd fAAE AgT €T 439e% 154 cm’ T
Find the volume of a sphere whose surface area is 154 cm’.



Worksheet-14 =T fefaprs ™I - 3<t
(Statistics)

1. & fonfes Gen o= feas a3 g wat § forgr AteT T
The numerical figure collected with definite purpose are called

2.  %@EYIs FESRT YUI J9& &8 HEU3 miftris arfes & feg anyr feg dier aer 4,
g afde 5 |
Meaningful information is studied in branch of mathematics called

3. gife3 &t yifvr feg 10 fefenmmaght gnmar yruz a3 #d 3< |

Consider the marks obtained by 10 students in a Mathematics test
55,36,95,73,60,42,25,78,75,62

=g4dr n"BEF’&' (Class Interval) — Class Interval Tally Marks Frequency
. . 25-50
51-75 fe"g Quast Mt = , i —
- . 51-75 s
JSBTHMHT = S
In 51-75, The Lower Class Limit = 76-100
The Upper Class Limit =
4. o B ATd UUST &7 7B Sum of all the observations
HOHTS = - —_ Mean = .
yyeT & & Hitenr Total number of observations

5,7,9,7,8,10,5 € HOH™& U3T &9 | Find Mean =

5. Hfgar - fegda®T U'e / Median = Middle Term,
2,4,6,8,10,12,14 &t ¥fad™ 3T &9 / Find Median =

6. IS = MITI3H 7997937 8T YUE / Mode = Most Repeated Term
3,2,4,3.4,5,3,6,7,3,8,9,10
gJ&d=__ = Mode=

7. fea S geas @ 10 Ho' feg Ia fay dim i3 |
2,3.4,5,0,1,3,3.4,3 fegst 3ist € HOHU'S, Hfua™ W3 9U&d U3Td4 |

The following number of goals were scored by a team in a series of 10 matches.
2,3,4,5,0,1,3,3,4,3 Find MEAN, MEDIAN and MODE of goals.

8. x-29, x-9, x+9, x+29 T HUH'S U3T J4 | (Find mean)



9. f3s ffent & feae 30 =79 GafenT fapyr | 59 =79 {93 (Head) mrE< &t Afvmm I fau
WMEATT J1 feF I wiafant Bet g9993T 3 Hast 978
Three coins are tossed 30 times simultaneously. Each time the number of heads occuring was
noted down as follow, Prepare a frequency distribution table for the given data.

0 1 2 2 1 2 3 1 3 0
1 3 1 1 2 2 0 1 2 1
3 0 0 1 1 2 3 2 2 0

10. Jof fodt Araet fE9 400 famms BUr @ Fies o o3 aE Is|
i) fea»rfegars 39 & AorfeasT a@ fedtt ot pasT=t § fsgas a3
i) f&& fomms Fur € fes & 700 Wfen™ 3 ST T
The following table gives the life time of 400 neon lamps.

i) Represent the given information with the help of a histogram
i) How many lamps have a life time of more than 700 hours ?

fies a® (Ufent fe9) Fur & Ayt
Life Time (in hours) Number of Lamps
300-400 14
400-500 56
500-600 60
600-700 86
700-800 74
800-900 62
900-1000 43
11. 155,160, 145, 149, 150, 147, 152, 144, 148 fegst wiafawt € Hfgar uzT a4

155, 160, 145, 149, 150, 147, 152, 144, 148 Find the median of this data.



Worksheet-15 ) AT T - &<

10.

(Probability)

fAfaeBe®sesd fagT AT I Tossinga coinis calleda
re=tufge™, R Geses 3 LES W& a1

The possible out comes of Tosing a coin is and

UATE e IAg=tufgey ., , , ., ., wEEIEI

Megrfea Hg=aT, P(E)=

dfmmt &t g & Afer
The Empirical Probability, P (E) =

The total number of trials

AET=&T IHAT CE] fegaadetdl

The probability always lies between and

UREHes 3 7emBT et ig=ar Jgetr I

The probability of getting 7, when die is rolled is

frad e 3fesa veemeeing=sT Jet I

The probability of getting Head or Tail in tossing a coin is

fAa & 1000 =79 &< 3 7a9 455 9 fa3 M3 545 9 Ue Mger I 37 Ue »le & Ag=ar
d=<dit| Acoinistossed 1000 times with the following frequencies: Head : 455,

Tail : 545. The probability of getting Tail is

H=aTae =1 I T3 aar THAET

The probability can not be more then

fEg U & 1000 TTHeS 3 YUI Ufga™™ 1,2,3.4,5,6 € I799793T AraSt fe 31 J1399 UfgeH & YUz

J< € Ag™=&T U3T dd | A die is rolled 1000 times with the frequencies for the outcomes 1,2,3,4,5,6 as
given in following table. Find the probability of getting each out come.

Outcome | ufge™ | 1 21 3| 4|5 |6
Frequence|¥98937(179 | 150 | 157 [149 {175 {190




11. €fAfant 3 feas 500 T98aae 3, Ad yuz Jerd|

efag (1059
feafez 2759
gt fazadt: 12029

fegst feg JaqWesTa W
g Ag =& U3 AT |

Two coins are tossed simultaneously 500 times and we get

Two heads : 105 times
One head : 275 times
No head : 120 times

12. »e &bt §Uat 11 88t &9, fagst €3 5 faar. wifas T, mivs feg »e e Jo fou nigng 979

find the probability of occurrence of each
ofthese events.

(fa g f€'9)9:4.97,5.05,5.08, 5.03,5.00, 5.06, 5.08,4.98, 5.04,5.07,5.00
oTsd gt Ire! fed 81 f<9 5 {9 ar 3 Suner Je & AgresT ot d=ait?

Eleven bags of wheat flour, each marked Skg, actually contained the following weights of flour (inkg.)

4.97,5.05,5.08,5.03,5.00,5.06,5.08,4.98,5.04,5.07,5.00
Find the probability that any of these bags chosen at random contains more than Skg. flour.

13. fequmrfeg @t gfeodr fapumiuR @ €3 feamgaafem B St Ag=ar........... JI

Adieisrolled, The probability of getting prime number is

14. WESTETIHI =S+ WesT‘ EXdl €T AT =a =1 (AJ1/Is3)

P(E)+(notE)=1  (true/false)



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30

